
P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5501]-1001

F.Y. B.A. EXAMINATION, 2019

COMPULSORY ENGLISH

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Prescribed : Visionary Gleam (Prose and Poetry)

N.B. :— (i) All questions are compulsory

(ii) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) What are astrologer’s strategies to deal with his

customers ?

(ii) Discuss briefly the six pillars of self-esteem and their

significance.

(B) (i) Comment on the significance of the title of the story,

‘The Gift of the Magi’.

(ii) Attempt a character sketch of Lachmi in your own words.

2. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) How does Robert Burns express his love for his

beloved ?
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(ii) Do you think the poem ‘Where the Mind is Without Fear’

is a prayer for the freedom of the country ? Elaborate

your answer.

(B) (i) Discuss the intensity of the poet’s love expressed in the

poem ‘If You Call Me’.

(ii) Write a note on the poetic devices used in the poem,

‘A Red, Red Rose’.

3. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) How does Nehru project the image of emerging India

in his speech ‘A Tryst with Destiny’ ?

(ii) What are the challenges, according to Karan Singh, for

the young generation ?

(B) (i) What are the problems of Indian democracy discussed

by Dr. Ambedkar in ‘Prospects of Democracy in India’ ?

(ii) Write a note on the pathos and irony in the story ‘The

Eyes are Not Here’.

4. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) Discuss Wordsworth as a nature poet with special reference

to the poem ‘Upon Westminster Bridge’.

(ii) Comment on the change of the narrator’s attitude towards

the old woman.
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(B) (i) Explore the theme of victory and defeat as illustrated

in the poem ‘Success is Counted Sweetest’.

(ii) How does the speaker find himself ‘reduced to........ small

change in her hand’ in the poem ‘An Old Woman’.

5. (A) Attempt any four of the following : [8]

(i) Change the following sentence into simple future tense :

Jessie met you at the clinic.

(ii) Change the following sentence into present perfect

progressive tense :

I lived in Delhi for ten years.

(iii) Fill in the blanks choosing the appropriate form of the

verb :

I was born in Kochi, but I ..................... (have moved/

had moved) to Thrissur now.

(iv) Fill in the blanks using the verb and its tense given

in the bracket :

Either the boys or their parents ........................ (collect

: Present perfect tense) the reports.

(v) Use the appropriate form of the verb given in the bracket

in the following sentence :

Idli and Sambar ........................ (is/are) my favourite

breakfast.



[5501]-1001 4

(vi) Rewrite the sentence using the appropriate form of the

verb as suggested in the bracket :

The planes ........................ (approach : present progressive

tense) the airport.

(B) Attempt any two of the following : [8]

(i) Ashwini invites her friends, Shilpa and Kalyani for her

birthday party. She plans to arrange the party in a three

star hotel. Write a dialogue based on this situation.

(ii) Mahesh is voting for the first time in the forthcoming

election. He discusses the issue of election with his friends,

Ramesh and Suresh. Write a conversational dialogue based

on this situation.

(iii) As a manager, Mitali wants to discuss the complaints

of the workers with her assistants, Sara and Smruti.

Write a formal dialogue based on this situation.



P.T.O.

Total No. of Questions—5+4] [Total No. of Printed Pages—7

Seat

No. [5501]-1002

F.Y. B.A. EXAMINATION, 2019

MARATHI

G-

(2013 PATTERN)

80

(i)

(ii)

(iii)

 :— (i)

(ii)

[10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)
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[10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

[10]

(i)

(ii)

(iii)

(iv)

[10]

(i)

(ii)

[10]

(i)

(ii)
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[5]

(i)

(ii)

[15]

(i)

(ii)

(iii)

(iv)

(v)

[5]

(i) Advance

(ii) Calendar

(iii) Definition

(iv) Headline

(v) Outline

(vi) Service book

(vii) True copy

(viii) Visa
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[5]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)
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[5501]-1002

G-1

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

(11)
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(12)

(13)

Examiner

Income Tax.

[5]

(i)

(ii)

[5]

1955 

2003 

2010 2011 
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[10]

[10]

Science is a systematic way which involves observation and

experimentation in order to get knowledge and improve skill;

whereas, technology is the practical application of science which

helps in improving the quality of life.

New inventions in the field of science and technology play

great role in the daily lives.

[15]

(i)

(ii)

(iii)

[15]

(i)

(ii)

(iii)
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Total No. of Questions—5+3] [Total No. of Printed Pages—7

Seat

No. [5501]-1003

F.Y. B.A. EXAMINATION, 2019

FRENCH (BEGINNERS)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
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belles



[5501]-1003 3 P.T.O.
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[5501]-1003
FRENCH (ADVANCED)

Time : Three Hours Maximum Marks : 80

Note :— 20 marks are reserved for the oral exam.
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chanté

?



P.T.O.

Total No. of Frages—4+5] [Total No. of Printed Pages—8

Seat

No. [5501]-1004

F.Y. B.A. EXAMINATION, 2019

GERMAN (BASIC)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Note :— All questions are compulsory. 10 marks are for Reading

Comprehension and 10 marks for Oral Exam.

Staatsangehörigkeit ist deutsch. Sie ist 1978 in Tunis geboren. Sie wohnt in
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[5501]-1004
GERMAN (ADVANCED)

Time : Three Hours Maximum Marks : 80

Note :— Use of a dictionary is not allowed. 10 marks are for Oral

Examination and 10 marks for Listening Comprehension.

1.  Was ist für Robert Cooper das Beste an Deutschland ?
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Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [5501]-1006

F.Y. B.A. EXAMINATION, 2019

GUJARATI

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
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Total No. of Questions—5] [Total No. of Printed Pages—3

[5501]-1007

F.Y. B.A. EXAMINATION, 2019

URDU

General Paper-I

(2013 PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) Attempt  All questions.

(2) Figures to the left indicate full marks.

(A) Bang-e-Dara Part I.  

(B) Chand Hum Asr.

P.T.O.

 Seat
  No.



2 [5501]-1007



3 [5501]-1007



Total No. of Questions—5+5] [Total No. of Printed Pages—8

Seat

No.
[5501]-1010

F.Y. B.A. EXAMINATION, 2019

HINDI GENERAL—I

1

(2013 PATTERN)

80

 :—(i)

(ii)

 :—(i)

(ii)

1. [16]

(1)

(2)

(3)

(4)

(5)

2. [16]

(1)

(2)

(3)

(4)

(5)

P.T.O.
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3.

[7]

(1)

(2)

[7]

(1)

(2)

4.

[8]

(1) Action

(2) Ban

(3) Condition

(4) Delivery

(5) Head

(6) No objection certificate

(7) Policy

(8) Reference

(9) Salary

(10) Zone.
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[8]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

[6]

Pune : Lata Mangeshkar received the first Asha Bhosale Award

for musical excellence by the Akhil Bhartiya Natya Parishad,

at a grand function attended by a 10,000 plus audience in

Akurdi on Sunday evening.

Accepting the award, Lata said, it was indeed a special moment

for her. She frankly declared that Asha was the most versatile

singer she had ever heard. To top in all, Lata admitted that

even she herself could not parallel her younger sister.
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5. [12]

(1)

(2)

(3)



[5501]-1010 5 P.T.O.

[5501]-1010

G-1 : (Functional Hindi) 

80

 :—(i)

(ii)

1.

[6]

(1) Account

(2) Bond

(3) Commission

(4) Define

(5) Gain

(6) Leave

(7) Post

(8) Script.

[6]

(1) 92%

(2)
1

3
4

(3) 9.5

(4) 11 + 22 = 33

(5) 8 × 6 = 48

(6) 78 – 9 = 69

(7) 35 ÷ 7 = 05

(8) 88.
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2. [8]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

3. [6]

10 12
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[10]

(1) 852,

(2) 27 30

(3)

4. [10]

(1)

(2)

(3)

(4)

[6]

2018

95

The Raigad Collector wants the Enforcement Directorate (ED)

to auction some valuable articles in the Nirav Modi bungalow

at Kihim beach to recover the cost of demolishing the house.

Earlier, the ED has asked the Collector to remove and handover

sculptures and statues from the bungalow. The district is likely

to carry out controlled blasting to raze the bungalow.
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5. [12]

(1)

(2)

(3)

(4)

[16]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—5] [Total No. of Printed Pages—5

[5501]-1011

F.Y. B.A. EXAMINATION, 2019

PERSIAN

General  Paper  I

(2013  PATTERN)

Text : Aks-e-Farsi

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

1. Define and illustrate any five of the following : [10]

2. Write short notes on any two of the following : [10]

P.T.O.

 Seat
  No.



3. (A) Reproduce any one story of the following : [10]

(B) Write short notes on any two of the following : [12]

4. Translate and explain any ten couplets of the following : [20]

2 [5501]-1011



P.T.O. 3 [5501]-1011



5. (A) Translate the passages into English, Urdu or Marathi

(any two) : [10]

4 [5501]-1011



(B) Translate the unseen English passage in Persian or Urdu or

Marathi : [8]

But being named an ‘Adarshgaon’ is far from easy : Villages

had to give a proposal after which a committee headed by Mr.

Pawar inspected the villages. The villages had to show

dedication in the struggle to fight mediocrity. They had to

follow all the conditions of becoming an Adarshgaon we chose

villages with a revolutionary spark ‘Mr. Pawar Says’.

5 [5501]-1011



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5501]-1012

F.Y. B.A. EXAMINATION, 2019

SANSKRIT

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

 :— (i)

All questions are compulsory.

(ii)

Figures to the right indicate full marks.

1.

[16]

Translate each two from Sections ‘A’ and ‘B’ into Marathi or

English :

Section ‘A’

(i)

P.T.O.
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(ii)

(iii)

Section ‘B’

(i)

(ii)

(iii)
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2. [16]

Explain with reference to the context any two from each

Section ‘A’ and Section ‘B’ :

Section ‘A’

(i)

(ii)

(iii)

Section ‘B’

(i)

(ii)

(iii)

3. [16]

Guidance of  regarding establishment new village.

(Or)

Critically appreciate the lesson 

4. [16]

Explain philosophy in 

(Or)

Discuss on as a modern poetry.
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5. [16]

Write critical notes on (any two) :

(i)

Preaching of to 

(ii)

(iii)

(iv)



Total No. of Questions—5] [Total No. of Printed Pages—4

[5501]-1015

F.Y. B.A. EXAMINATION, 2019

ARABIC

General  Paper  I

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 80

1. Translate into English/Urdu/Marathi any two of the following

passages : [20]

P.T.O.

 Seat

  No.



2. Translate and explain the following poem : [15]

2 [5501]-1015



3. Define and illustrate any two of the grammar : [10]

4. Write the short notes on any two of the following : [15]

5. (A) Translate the following into English (any five) : [10]

P.T.O. 3 [5501]-1015



(B) Translate the following into Arabic (any five) : [10]

(1) There is a table in the room.

(2) On the window there is a curtain.

(3) No, his college is closed.

(4) He is going to his friend.

(5) There is a student in the class.

(6) His office is far from his home.

(7) The new teacher is a tall man.

4 [5501]-1015



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5501]-1016

F.Y. B.A. EXAMINATION, 2019

ECONOMICS

G-1 : Indian Economy : Problems and Prospects

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :  [20]

(i) Explain the concept of per capita income.

(ii) Explain the concept of quality of population.

(iii) State the causes of unemployment in India.

(iv) Explain the need of industrialisation.

(v) Which are the features of labour ?

(vi) State the major problems in Co-operative Movement.

2. Answer the following questions in 200 words each (any two) :  [20]

(i) Explain the theory of Demographic Transition.

(ii) State the causes of poverty.

(iii) Explain the classification of Labour.

(iv) Which are the causes of Regional Imbalance of Maharashtra ?
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3. Answer the following questions in 400 words (any one) : [20]

(i) Which are the causes of suicide of Indian farmers ? Explain

the measures to stop suicide of farmers.

(ii) What is Economic Planning ? Explain in detail the types of

Economic Planning.

4. Write short notes on (any four) : [20]

(i) Developed Economy

(ii) Sex Composition

(iii) Absolute and Relative Poverty

(iv) New Economic Reforms

(v) Social Security

(vi) Water Management.

80

 :— (i)

(ii)

(iii)

[20]

(i)

(ii)

(iii)

(iv)
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(v)

(vi)

[20]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



[5501]-1016 4

[5501]-1016

G-1 : Agricultural Economics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :  [20]

(i) Explain the concept of food security.

(ii) Explain the concept of Special Economic Zone (SEZ).

(iii) State the features of Agricultural Labour.

(iv) Explain the nature of Agricultural Economics.

(v) State the concept of co-operative marketing.

(vi) Explain the concept of water management.

2. Answer the following questions in 200 words each (any two) :  [20]

(i) Explain the problems of agricultural marketing in India.

(ii) Explain the sources and problems of agricultural finance.

(iii) Explain the impacts of World Trade Organization on Indian

Agriculture.

(iv) Explain the achievement and failures of Green Revolution.

3. Answer the following questions in 400 words (any one) : [20]

(i) Explain the causes of suicide of farmers and state the measures

to stop suicide of farmers.
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(ii) Explain the importance of irrigation in agriculture and state

the types of irrigation.

4. Write short notes on (any four) : [20]

(i) Scope of Agricultural Economics

(ii) Organic farming

(iii) Low agricultural productivity

(iv) Remedies of Drought

(v) Co-operative Marketing

(vi) World Trade Organization (WTO).

80

 :— (i)

(ii)

(iii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[20]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi) (WTO)



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5501]-1017

F.Y. B.A. EXAMINATION, 2019

POLITICAL SCIENCE (Optional)

G-1 : INDIAN GOVERNMENT AND POLITICS

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) :   [20]

(i) Explain formation of the Constituent Assembly.

(ii) Explain the term ‘Secularism’.

(iii) What is Habeas Corpus ?

(iv) Explain the right against exploitation.

(v) Write about Finance Commission.

(vi) What is the principle of Collective Responsibility ?

2. Attempt any two questions (in 200 words each) :   [20]

(i) Discuss centre-state legislative relations.

(ii) Explain the jurisdiction of High Court in India.

(iii) Explain the role of caste in Indian Politics.

(iv) What is Regionalism ? Explain causes of regionalism.

3. Attempt any one question (in 400 words) : [20]

(i) Discuss salient features of Indian Constitution.

(ii) Explain the features of Electoral System in India and discuss

electoral reforms.
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4. Write short notes on (any four) : [20]

(i) Directive Principles of State Policy

(ii) Attorney General

(iii) Chief Minister

(iv) Coalition Politics

(v) Communalism

(vi) Border issues.

80

 :— (i)

(ii)

(iii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(iv)

[20]

(i)

(ii)

(iii)

(iv)
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[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[5501]-1017

G-1 : MODERN INDIAN POLITICAL THOUGHT

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four questions (in 100 words each) :   [20]

(i) Discuss Jyotiba Phule’s critique of Brahmanism.

(ii) Discuss M.G. Ranade’s views on Social Reforms.

(iii) Explain B.G. Tilak’s views on Swarajya.

(iv) Explain M.N. Roy’s views on Marxism.

(v) Discuss V.D. Savarkar’s views on Caste System.

(vi) Explain Abul Kalam Azad’s theory of Nationalism.

2. Answer any two questions (in 200 words each) :   [20]

(i) Discuss M.K. Gandhi’s views on Sarvodaya.

(ii) Explain M.G. Ranade’s views on poverty in India.

(iii) Explain Dr. B.R. Ambedkar’s views on State Socialism.

(iv) Discuss V.D. Savarkar’s views on Hindu Nationalism.

3. Attempt any one question (in 400 words) : [20]

(i) Discuss Jyotiba Phule’s views on emancipation of Shudra-Atishudra

and Women.

(ii) Discuss M.N. Roy’s critique of Indian National Movement.
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4. Write short notes on (any four) : [20]

(i) M.G. Ranade’s views on Liberalism

(ii) B.G. Tilak’s theory of Nationalism

(iii) Dr. B.R. Ambedkar’s views on caste system

(iv) M.N. Roy’s views on Radical Humanism

(v) Abul Kalam Azad’s views on Islam

(vi) Dr. B.R. Ambedkar’s views on Dhamma

80

 :— (i)

(ii)

(iii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

[20]

(i)

(ii)

(iii)

(iv)
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[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1018

F.Y. B.A. EXAMINATION, 2019

HISTORY

G-1 : Chhatrapati Shivaji and His Times (1630-1707)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the Marathi sources of Maratha History.

(ii) Write the Bhakti Movement in brief.

(iii) Explain the concept of ‘Swarajya’.

(iv) State the contribution of Dhanaji Jadhav in Maratha War of

Independence.

(v) Describe the religious life in the period of Chhatrapati Shivaji

Maharaj.

(vi) Write the different types of taxes during Chhatrapati Shivaji’s

period.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the Central Administration System in the period of

Chhatrapati Shivaji Maharaj.

(ii) Describe the role of Chhatrapati Rajaram Maharaj in Maratha

War of Independence.
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(iii) Describe briefly status of women during Chhatrapati Shivaji’s

period.

(iv) Explain the different types of forts and its architecture.

3. Answer any one of the following questions is 400 words : [20]

(i) Describe the Afzal Khan episode and its importance.

(ii) Evaluate the achievements of Chhatrapati Sambhaji Maharaj.

4. Write short notes on (any four) : [20]

(i) Bakhar

(ii) Sardeshmukhi

(iii) Chhatrapati Shivaji Maharaj-Portuguese relation

(iv) Ajnapatra

(v) Gavgada

(vi) Revenue system.

80

 :— (i)

(ii)

(iii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[20]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1019

F.Y. B.A. EXAMINATION, 2019

ANTHROPOLOGY

G-1 : Introduction to Social and Cultural Anthropology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following in 100 words each : [20]

(i) State the formal means of social control.

(ii) Describe the meaning of cultural lag.

(iii) State the rules of Indogamy.

(iv) What is the concept of property ?

(v) State any two characteristics of culture.

(vi) Describe the forms of kinship.

2. Answer any two of the following in 200 words each : [20]

(i) Explain the relation of Anthropology with other sciences.

(ii) Explain the characteristics of Tribal Economy.

(iii) Explain any two types of culture with examples.

(iv) Describe the nature of punishment among the Adivasis.

P.T.O.
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3. Answer any one of the following in 400 words : [20]

(i) Explain various theories of origin of religion.

(ii) Describe the kinship behaviour among the tribal communities.

4. Write short notes on any four of the following : [20]

(i) Homo ercetus

(ii) Bhagat

(iii) Uses of Anthropology

(iv) Elements of Culture

(v) Ape-man

(vi) Nuclear Family.

80

 :— (i)

(ii)

(iii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



[5501]-1019 3 P.T.O.

2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1020

F.Y. B.A. EXAMINATION, 2019

G-I : GEOGRAPHY

(Gg-110 : Elements of Geomorphology)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencil is allowed.

1. Answer in 20 words each (any ten) : [20]

(i) What is geomorphology ?

(ii) What is longitude ?

(iii) What is international date line ?

(iv) What is ‘MOHO discontinuity’ ?

(v) Write the names of any two major plates of the earth.

(vi) What is rock ?

(vii) What is fault ?

(viii) What is volcano ?

(ix) What is biological weathering ?

(x) What is mass wasting ?

(xi) Define convex slope.

(xii) Define watershed.

(xiii) Write any two geographical features which are surrounded by

your area.
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2. Answer in 50 words each (any two) : [10]

(i) Branches of Physical Geography.

(ii) Write the properties of igneous rock.

(iii) Landslide.

(iv) Effects of Tsunami.

3. Answer in 150 words each (any two) : [20]

(i) Explain the formation and type of the sedimentary rock.

(ii) Write the evidences of continental drift theory.

(iii) Write in detail mechanical weathering.

(iv) What is mass-wasting ? Explain the types of mass-wasting.

4. Answer in 300 words each (any two) : [30]

(i) Explain the nature and scope of geomorphology.

(ii) Define earthquake. Explain the causes of earthquake.

(iii) Describe the landforms associated with depositional work of

river.

(iv) Elaborate the application of applied geomorphology in resource

evaluation.

80

 :— (i)

(ii)

(iii)

(iv)

(v)

[20]

i

ii

(iii)



(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)

(xiii)

[10]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

(iii)

(iv)

[30]

(i)

(ii)

(iii)

(iv)



Total No. of Questions—7+7+6] [Total No. of Printed Pages—5

Seat

No. [5501]-1021

F.Y. B.A. EXAMINATION, 2019

MUSIC

I)

(2013 PATTERN)

20

 :— (i)

(ii)

(iii)

1.

2.

3.

4.

(i)

(ii)

(iii)

P.T.O.



[5501]-1021 2

(iv)

(v)

(vi)

(vii)

5.

(i)

(ii)

(iii)

(iv)

6.

(i)

(ii)

(iii)

7.

(i)

(ii)

(iii)
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[5501]-1021

20

 :— (i)

(ii)

(iii)

1.

2.

3.

4.

(i)

(ii)

(iii)

5.

(i)

(ii)

6.
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[5501]-1021

20

 :— (i)

(ii)

(iii)

1.

2.

3.

4.

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)
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5.

(i)

(ii)

(iii)

(iv)

6.

(i)

(ii)

(iii)

7.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1022

F.Y. B.A. EXAMINATION, 2019

PUBLIC ADMINISTRATION

(G-1 : Principles of Public Administration)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions of the following (in 100 words each) : [20]

(1) Demerits of Hierarchy.

(2) Qualities of Leadership.

(3) Features of Department.

(4) Objectives of Training.

(5) Administrative Accountability.

(6) Judicial Control over the Public Administration.

2. Attempt any two questions of the following (in 200 words each) : [20]

(1) What is Promotion ? State the benefits of Promotion.

(2) Explain the types of Budgets.

(3) Explain the traditional approach to the study of Public

Administration.

(4) Discuss the role of Chief Executive.

3. Attempt any one question of the following (in 400 words) [20]

(1) Explain the nature, scope and importance of Public

Administration.

(2) What is Administrative Tribunal ? Explain the merits and demerits

of Administrative Tribunal.
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4. Write short notes on (any four) : [20]

(1) Co-ordination

(2) Decision-Making

(3) Types of Staff Agencies

(4) Functions of Bureaucracy

(5) Merits of Direct Recruitment

(6) Methods of Training.

80

 :— (i)

(ii)

[20]

1

2

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1023

F.Y. B.A. EXAMINATION, 2019

PSYCHOLOGY

G-1 : General Psychology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the structure and function of neuron.

(ii) Explain the process of sensation.

(iii) Explain social motives in short.

(iv) Explain basic emotions in short.

(v) Describe long term memory.

(vi) Explain the basic concepts in intelligence.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the functions of endocrine gland in detail.

(ii) Explain the principles of perceptual organisation.

(iii) Explain the measurement and importance of emotional

intelligence.

(iv) Explain types of thinking process.
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3. Answer the following questions in 400 words (any one) : [20]

(i) Define Psychology. Explain the different fields/branches of

Psychology.

(ii) What is Personality ? Explain Freud’s psycho-analytic theory

of personality.

4. Write short notes on (any four) : [20]

(i) Neurotransmitters

(ii) Attention

(iii) Motivation cycle

(iv) Effect of positive and negative emotions on health

(v) Trial and error method of learning

(vi) Giftedness.

80

 :— (i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[20]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1024

F.Y. B.A. EXAMINATION, 2019

GANDHIAN THOUGHT

( G-1 : Introduction to Gandhian Thought)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain in short impact of Jain Philosophy on Gandhi.

(ii) Briefly explain Gandhiji’s opinion about Religion.

(iii) Explain the term ‘Satyagraha’.

(iv) Explain in brief Gandhiji’s views about caste system.

(v) Explain in brief history of ‘Dandi Satyagraha’.

(vi) Briefly explain Gandhiji’s role as a social reformer.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain fully Gandhiji’s concept of ‘Satya and Ahimsa’.

(ii) Explain the features of ‘Ideal Satyagrahi’ according to Gandhiji.

(iii) What is consistency between words and action derived by

Gandhiji ?

(iv) Explain the term ‘fearlessness’ in regard to Gandhiji.

3. Answer the following questions in 400 words (any one) : [20]

(i) Explain the importance of Gandhiji’s ‘Ekadasavrata’.

(ii) Explain fully Gandhiji’s concept of an ideal state (Ramarajya).
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4. Write short notes on (any four) : [20]

(i) Sarvadharmsamabhava

(ii) Concept of Fasting

(iii) Concept of Means

(iv) Kheda Satyagraha

(v) Self-Respect

(vi) Gandhiji : A Political Leader.

80

 :— (i)

(ii)

(iii)

[20]

i

ii

(iii)

(iv)

(v)

(vi)

[20]

(i)

(ii)

(iii)

(iv)
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[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1025

F.Y. B.A. EXAMINATION, 2019

YOGA

General Paper I

(Yogvidya)

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one of the following questions in 50 words : [5]

(i) Importance of Yama in Social Health.

(ii) Use of Yoga Science.

2. Write short notes on (any two) : [10]

(i) Tadasana

(ii) Ujjai Pranayam

(iii) Kapalbhati

(iv) Jalandhar Bandha.

P.T.O.
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3. Answer any two questions from the following in 200 to 250 words

each : [15]

(i) Explain the misconcepts about Yoga Science.

(ii) Which types are Yoga pranali ?

(iii) Explain the Patanjal Yogasutra.

4. Attempt any one question in detail : [10]

(i) Explain importance of Swami Swatmaram’s Hathyog Pradipika

in daily life.

(ii) Explain the scope and limitation of Yoga Science.

40

 :— (i)

(ii)

(iii)

1. [5]

(i)

(ii)

2. [10]

(i)

(ii)

(iii)

(iv)
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3. [15]

(i)

(ii)

(iii)

4. [10]

(i)

(ii)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1026

F.Y. B.A. EXAMINATION, 2019

HISTORY OF CIVILIZATION

General Paper I

[Cultural History of Maharashtra (Upto 13th Century)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Write term of culture.

(ii) Inamgaon culture

(iii) Shilahar dynasty

(iv) Paintings and sculpture of Ajintha and Ellora

(v) Nath cult

(vi) Gatha Saptshati.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the cultural identity of Maharashtra.

(ii) Write about social and cultural life of Yadavas.

(iii) State about trade and commerce in Maharashtra.

(iv) Take a review of Marathi Literature.

P.T.O.
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3. Answer any one of the following questions in 500 words : [20]

(i) Explain the position of women in Medieval Maharashtra.

(ii) Write on Mahanubhav Cult Philosophy and its achievements.

4. Write short notes on (any four) : [20]

(i) Geographical Identity of Maharashtra

(ii) Origin of Marathi Language

(iii) Gaongada

(iv) Agriculture in Maharashtra

(v) Architecture of Forts

(vi) Mansollas.

80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1027

F.Y. B.A. EXAMINATION, 2019

HOME ECONOMICS

G-1 : Household and General Economics

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Diagrams must be drawn wherever necessary.

(iii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the role of Human Values in Human Life.

(ii) Explain the merits of Home Management.

(iii) How far do taxes affect family income ?

(iv) Explain the Basic Economic Problems.

(v) Explain the concept of Account keeping.

(vi) Explain the relationship between Economics and other Social

Sciences.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the process of Home Management.

(ii) Explain the elements of interior and exterior home decoration.

(iii) Explain the functions of Money.

(iv) What are the effects of Inflation ?
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3. Answer the following questions in 500 words (any one) : [20]

(i) Explain the process of Decision-Making with suitable example.

(ii) Explain the Law of Demand with suitable example.

4. Write short notes on (any four) : [20]

(i) Problems of Poverty of India

(ii) Determinants of Decision-Making

(iii) Types of Price Elasticity of Demand

(iv) Types of Human Goals

(v) Sources of Family Income

(vi) Features of Economics Law.

80

 :— (i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[20]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4+4+4] [Total No. of Printed Pages—9

Seat

No. [5501]-1028

F.Y. B.A. EXAMINATION, 2019

DEFENCE AND STRATEGIC STUDIES

D.S.G.–1(A) : Defence Mechanism of India

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) What are the functions of the Defence Committee of the

Cabinet ?

(ii) State the limitation of Signales.

(iii) State the principles of Intelligence.

(iv) What are the characteristics of Indian Airforce ?

(v) State the role of A.S.C.

(vi) What are the role of Border Security Force ?

2. Answer the following questions in 200 words each (any two) : [20]

(i) Trace the growth of Indian Navy since 1947.

(ii) State the characteristics and role of Armoured Corps.

(iii) State the principles of Defence Organisation.

(iv) What are the characteristics and role of Infantry ?

P.T.O.
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3. Answer the following questions in 400 words each (any one) : [20]

(i) State the characteristics, role and limitation of the Artillery.

(ii) Explain with the help of chart the organization of Army

Headquarter.

4. Write short notes on (any four) : [20]

(i) Characteristics of Indian Navy

(ii) Characteristics of Engineers

(iii) Chiefs of Staff Committee

(iv) Role of Indian Airforce

(v) President

(vi) Coast Guard.

80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[5501]-1028

D.S.G.–1(B) : Military Thinkers in 19th Century

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the strategic thought of A.H. Jomini.

(ii) Explain the Military thought of H.V. Moltke.

(iii) According to Lenin what is revolutionary war ?

(iv) State the Douhet’s theory of air power.

(v) Explain the strategic thought of Marshal Foch.

(vi) State the strategic thought of B.H. Liddle Hart.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the Schiieffen plan.

(ii) Explain the Admiral A.T. Mahan’s theory of Sea Power.

(iii) Give Clausewitz’s concept of total war.

(iv) State the thought of Fuller regarding role of Armoured Corps.

3. Answer the following questions in 400 words each (any one) : [20]

(i) Explain the Mackinder’s Heart land theory.

(ii) Explain the thought of Mao Zedong regarding Guerrilla tactics.
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4. Write short notes on (any four) : [20]

(i) Lenin

(ii) A.T. Mahan

(iii) Marshal Foch

(iv) Jomini

(v) Mao Zedong

(vi) Mackinder.

80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

2. [20]

(i)

(ii)

(iii)

(iv)



[5501]-1028 6

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[5501]-1028

D.S.G.–1(C) : Post Cold War India’s Security Environment

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) What is Globalization ?

(ii) What are the effects of Water Pollution ?

(iii) What are the Humanitarian Issues ?

(iv) Explain the concept of Terrorism.

(v) State the characteristics of New International Economic Order

(NIEO).

(vi) Explain the structure of N.C.T.C.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Describe in detail the impact of Globalization on India.

(ii) What are the India’s Security Challenges ? Explain.

(iii) Explain the new trends of Terrorism.

(iv) Explain the India’s status in New World Order.

3. Answer the following questions in 400 words (any one) : [20]

(i) Explain in detail nature of Environmental Problems.

(ii) Discuss the ‘India’s Counter Terrorism Policy’.
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4. Write short notes on (any four) : [20]

(i) Insurgency

(ii) Human Rights

(iii) Human Security

(iv) Types of Terrorism

(v) Objectives of NAFTA

(vi) N.C.T.C. Meaning.

80

 :— (i)

(ii)

(iii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-1029

F.Y. B.A. EXAMINATION, 2019

SOCIAL WORK

(1) Social Reforms Movements in India

(2) Introduction to Social Welfare and Social Services

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [16]

State Antyodaya movement.

Or

Describe social services for handicapped.

2. Answer any one question in 500 words : [16]

Write on origin and development of social services in India during

pre-British period.

Or

Highlight on activities of Arya Samaj.

3. Answer any one question in 500 words : [16]

State social work leads to social welfare.

Or

Describe specific social services for deprived sections of society.

P.T.O.
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4. Answer any one question in 500 words : [16]

State planned provisions for Social Welfare for SEBCs (OBCs) in

India.

Or

Describe social reform movements by Mahatma Gandhi.

5. Write short notes on (any two) : [16]

(a) Objectives of Brahmo Samaj

(b) Problems of unorganized workers

(c) Social welfare

(d) Gramdan movement.

80

 :— (i)

(ii)

(iii)

1. 500 [16]

2. 500 [16]
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3. 500 [16]

4. 500 [16]

SEBCs

5. [20]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

No. [5501]-1030

F.Y. B.A. EXAMINATION, 2019

MATHEMATICAL STATISTICS

(Discrete Probability and Probability Distributions)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical tables and calculator is allowed.

(iv) Symbols have their usual meaning.

(v) Graph paper will be supplied on request.

1. Attempt each of the following :

(A) State whether each of the following statements is true or

false : [1 each]

(i) Mean and standard deviation of geometric distribution

are equal.

(ii) If A’ and B’ are independent, then A and B are

independent.

(iii) Expected value of a constant is zero.

(iv) Correlation coefficient between (3 – X) and (5 – 3Y) is

the same as that between X and Y.

(B) Choose correct alternative in the following : [1 each]

(i) The second central moment of Poisson distribution with

mean m is :

(a) m

(b) 3m

(c) m2

(d) m3
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(ii) If X � H(10, 6, 3), then the second factorial moment

of X is :

(a) 10

(b) 6

(c) 2

(d) 3

(iii) If E(Y) = 3 where Y = 
X 2

5

�
, then E(X) is :

(a) 1/5

(b) 17/5

(c) 5/17

(d) 17

(iv) Which of the following is a pair of mutually exclusive

events in the drawing of a single card from a deck of

52 playing cards ?

(a) A heart and a queen

(b) An even number and a spade

(c) A club and red card

(d) An ace and an odd number

(C) Answer in brief : [2 each]

(i) State the p.m.f. of negative binomial distribution. State

its mean and variance.

(ii) Let X ( , );b n p�  E(X) = 4 and S.D.(X) 3� . Find

n, p and q.

(iii) A symmetric die is rolled and number on uppermost face

is noted. Find its probability distribution.

(iv) State limitations of classical definition of probability.
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2. Attempt any four of the following : [4×4=16]

(a) A machine consists of two parts P1 and P2. Probability of

defect in P1 = 0.08 and that in P2 = 0.05. What is the probability

that the assembled machine will not have any defect ?

(b) Let (X, Y) be a discrete bivariate r.v. with the following joint

p.m.f. :

X   Y

0 1 2 3

0 k 3k 2k 4k

1 2k 6k 4k 8k

2 3k 9k 6k 12k

(i) Find k

(ii) E(X Y).

(c) Define probability mass function (p.m.f.). Determine c such that

the following function is a p.m.f. :

5
P(X) ; 0, 1, 2, 3, 4, 5c x

x

� �
� �� �

� 	
.

(d) Explain the concept of marginal and conditional probability

distributions.

(e) In a summer season a truck driver experiences on an average

1 puncture in 1000 km. Applying Poisson distribution, find the

probability that there will be (i) no puncture (ii) two punctures

in a journey of 3000 km.

(f) Derive C.G.F. of geometric (p) distribution.
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3. Attempt any four of the following : [4×4=16]

(a) Define geometric distribution. A personnel officer knows that

about 20% of the applicants for a certain position are suitable

for the job. What is the probability that the 5th person interviewed

will be the first one who is suitable ?

(b) Define discrete uniform distribution. Find its mean and variance.

(c) A random variable X has the following probability distribution :

X P(X)

1 3k

2 3k

3 5k

4 17k

5 9k

6 11k

7 13k

(i) Find k.

(ii) Calculate mean and variance.

(d) Suppose a fair coin is tossed thrice. Let X denote the number

of heads and Y denote the number of tails. Obtain the joint

probability distribution of (X, Y). Also obtain marginal distributions

of X and Y.

(e) Define hypergeometric distribution. State applications of

hypergeometric distribution along with conditions for the

application of the distribution.

(f) Let A and B be two independent events defined on a sample

space 
. The probability that at least one event out of A

and B occurs is 0.7, while the probability that A occurs is

0.5, determine the probability that A occurs.
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4. Attempt any two of the following : [2×8=16]

(a) Suppose X and Y are two discrete random variables with joint

probability distribution :

  {(Xi, Yj, Pij); i = 1, 2, ......, m; j = 1, 2, ......, n}

Prove that :

(i) E(X + Y) = E(X) + E(Y)

(ii) E(XY) = E(X) E(Y); if X and Y are independent.

(b) If X and Y are independent Poisson random variables with

means m1 and m2 respectively, then find the conditional probability

distribution of X given X + Y.

(c) Define Poisson distribution. Find its M.G.F. and C.G.F.

(d) State and prove Bayes’ theorem.

5. Attempt any one of the following : [1×16=16]

(a) (i) The probability that a construction job will be finished

on time is 0.7, the probability that there will be no strike

is 0.6 and the probability that the job will be finished

on time given that there are no strikes is 0.8.

(I) What is the probability that the job will be finished

on time there will be no strikes ?

(II) What is the probability that there will have been

no strikes given that the job is finished on time ? [6]

(ii) With usual notations prove that additive property does

not hold good for geometric distribution. [6]

(iii) Obtain M.G.F. of discrete uniform distribution over

{1, 2, ......, n}. [4]
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(b) (i) For the following joint p.m.f. of (X, Y), find k and hence

compute Var(3X + 4Y). [12]

X Y

0 1 2

–1 12k 15k 2k

1 7k 8k 12k

(ii) A card is drawn from an ordinary pack of 52 playing

cards. What is the probability that it is a king; given

that it is a face card ? [4]



Total No. of Questions—6] [Total No. of Printed Pages—4

Seat

No. [5501]-1031

F.Y. B.A. EXAMINATION, 2019

Optional English

Text : Interface : English Literature and Language

(General Paper I)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 70 words each (any three) : [12]

(i) What was Kalam’s father’s reaction when Kalam accepted the

gift without his permission ?

(ii) How, according to R.K. Narayan, do the Indians need to mark

a Swadeshi Stamp on English ?

(iii) Is Leslie a romantic girl ? Justify your answer.

(iv) Compare and contrast the perspectives of the child and the

father as reflected in ‘A Day’s Wait’.

(v) How did Kalam’s father influence Kalam’s life during his

childhood ?

P.T.O.
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2. (A) Answer the following questions in about 70 words each

(any three) : [12]

(i) How does the poet’s mood change from regret to joy

in Sonnet 29 ?

(ii) Write a note on the theme of the poem ‘The World

is Too Much With Us.’

(iii) Compare the two worlds of the speaker and the listeners

as depicted in the poem ‘The Listeners’.

(iv) What are the similarities that the poet refers to in

‘No Men are Foreign’ ?

(v) Discuss the elements of humanism expressed in the poem

‘No Men are Foreign’.

(B) Write short notes on the following (any two) : [6]

(i) Speech is primary

(ii) Creativity and productivity of language

(iii) Expressive function of language

(iv) Phatic function of language.

3. Answer the following questions in about 100 words each (any two) : [12]

(i) Comment on the humorous elements in the story ‘Upper

Division Love’.

(ii) Do you think that Nene is more sensible than Nnaemeka ?

Justify your answer.
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(iii) What do you learn about Nigerian society as it is reflected

in ‘Marriage is a Private Affair’ ?

(iv) Discuss ‘Upper Division Love’ as a criticism on film crazy youth

in India.

4. Answer the following questions in about 100 words each (any two) : [12]

(i) The poem ‘The Road Not Taken’ is more about failure than

success. Discuss.

(ii) How does the speaker argue that the lover’s world is different

than the actual universe in the poem ‘The Sun Rising’ ?

(iii) How do the mountain and the squirrel quarrel with each

other ?

(iv) How do the Black Americans continue to be the victims

of racial discrimination as reflected in ‘Ballad of the

Landlord’ ?

5. Answer the following questions in about 100 words each (any two) : [12]

(i) Do you agree that ‘Lithuania’ is a horror play ? Justify your

answer.

(ii) ‘The Daughter’s cruelty is the outcome of her frustration’.

Discuss.

(iii) Discuss ‘The Swan Song’ as a tragedy.

(iv) ‘Svietlovidoff is a mixture of success and failure’. Discuss.
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6. (A) Write a short note in about 50 words each (any one) : [4]

(i) Phonetics and phonology

(ii) Semantics : A study of meaning.

(B) (i) Identify the number of phonemes in the following words

(any two) : [2]

(a) gold

(b) sun

(c) set

(d) trip.

(ii) Identify the structure of the following words in terms

of C and V (any four) : [4]

(a) pen

(b) tooth

(c) see

(d) fold

(e) but

(f) ton.

(iii) Identify the vowels in the following words (any four) : [4]

(a) kite

(b) sold

(c) up

(d) hook

(e) nun

(f) fan.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1033

F.Y. B.A. EXAMINATION, 2019

COMMERCE

G-1 : (Organisation of Commerce)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) :  [10]

(1) Define meaning of ‘Commerce’.

(2) Define the term ‘Wholesaler’

(3) Meaning of Barter system.

(4) Define the term Marketing.

2. Answer in 100 words each (any four) : [20]

(1) Explain the scope of Commerce.

(2) Explain the services of Wholesaler.

(3) Explain the concept of Buyers and Sellers Market.

(4) Explain the nature of Trade.

(5) Explain the features of Life Insurance.

(6) Discuss evolution of Marketing.

3. Answer in 250 words each (any three) [30]

(1) Explain the functions of Advertising.

(2) Explain the functions of Money.

(3) Explain the objectives of Marketing.

(4) Explain the functions of Packaging.

(5) Explain elements of Marketing.
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4. Answer in 500 words (any one) : [20]

(1) Explain the nature, scope and benefits of Advertising.

(2) Define the term Retail Trade and explain its importance.

80

 :— (i)

(ii)

[10]

1

2

(3)

(4)

[20]

(1)

(2)

(3)

(4)

[30]

(1)

(2)
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[20]

(1)

(2)



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5501]-1034

F.Y. B.A. EXAMINATION, 2019

G-1 : EDUCATION

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Which are the objectives of education stated by Kothari

Commission (1966) ?

(ii) Explain the individual importance of education.

(iii) Explain the concept of education told by Swami Vivekananda.

(iv) What are the objectives of pre-primary education ?

(v) Explain the advantages of experimental method.

(vi) Explain the role of family in value development.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the role of education in social development.

(ii) Explain the educational work of Mahatma Jyotirao Phule.

(iii) What is value education ? Explain the values envisaged in

the Constitution of India.

(iv) Explain the advantages and limitations of introspection method.

P.T.O.
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3. Answer the following questions in 400 words (any one) : [20]

(i) What are the problems in primary education ? Give solutions

to it.

(ii) What is the meaning of mass communication media ? Explain

the role of Radio in education with an example.

4. Write short notes in 50 words each (any four) : [20]

(i) Shri-Niketan

(ii) Formal Education

(iii) Aims of ancient Indian education

(iv) Role of education in national integrity development

(v) Advantages of experimental method

(vi) Concept of education.

80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[5501]-1034

G-1 : EDUCATION

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Write the merits of observation method.

(ii) Write the importance of pre-primary education.

(iii) Explain the importance of population education.

(iv) Write the concept of Earn and Learn scheme.

(v) Write the objectives of environmental education.

(vi) Write the objectives of education stated in Kothari Commission

(1966).

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the education philosophy of Mahatma Jyotirao Phule.

(ii) Explain the role of Radio in education.

(iii) Explain the functions of family.

(iv) Explain difference between formal and non-formal education.

3. Answer any one question in 400 words : [20]

(i) Explain in detail the educational work of Maharshi Karve.

(ii) What are the causes of stagnation and wastage in primary

education ? Suggest remedies to overcome these problems.
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4. Write short notes in 50 words each (any four) : [20]

(i) Concept of Education

(ii) Importance of Audlt Education

(iii) Importance of Television in Education

(iv) Aims of Ancient Indian Education

(v) Limitations of Introspection Method

(vi) Nature of Educational Psychology.

80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

2. [20]

(i)

(ii)

(iii)

(iv)
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3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5501]-1035

F.Y. B.A. EXAMINATION, 2019

MATHEMATICS

FMG-1 : Industrial Mathematics

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(a) Factor the equation x2 + 11x + 24 using the integer coefficients.

(b) Find the slope of the linear function passing through the

points (2, 1) and (5, 8).

(c) Solve :

9(2x + 3) – 2x = 11 + 5(2x – 1).

(d) Define continuous function.

(e) Define inflection point of a function.

(f) If A = 

2 3

4 5

� �
� �
� �
� �

 and B = 

3 2

4 1

� �
� �
� �
� �

, then find A + 3B.

(g) Define slack and surplus variables.

(h) Evaluate :

2 sin .x x dx�
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(i) Find :

23 .x dx�
(j) Give an example of a matrix A such that A2 = A.

2. Attempt any four of the following : [16]

(a) Let

2 2
, if  0;

2, if  0.

x x
x

xf x

x

� 	

�

� 

� ��

Discuss the continuity of f(x).

(b) Evaluate :

1

1
lim .

x

x

e

x�

	

(c) If f(x) = g(x) + h(x), then prove that f �(x) = g�(x) + h�(x).

(d) If 5x4y = 9x7 – 8x6, then find 
dy

dx
.

(e) If f(x) = (6x + 7)4, then find f ��(2) and f ���(2).

(f) Find the slope and y intercept of the following equations :

(i) 4y – 3x = 7

(ii) 9y = 2x + 17.

3. Attempt any two of the following : [16]

(a) Let f(x) = –x3 + 3x2 + 45x + 7. Find :

(i) Critical points.

(ii) Relative minimum and maximum.

(iii) Inflection point.
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(b) Sketch the graph of the function :

f(x) = –2x3 + 12x2 + 72x – 70.

(c) Find the marginal cost and average cost of the following

functions at Q = 2 :

(i) TC = Q2 + 9Q + 16

(ii) TC = 24Q – Q2.

4. Attempt any four of the following : [16]

(a) Find value of a and b such that :

1 2 5

.

3 2 1

a

b

� � � � � �
� � � � � ��
� � � � � �	 	� � � � � �

(b) If A = 

1 3

2 5

� �
� �
� �
� �

 and B = 

7 2

4 1

� �
� �
� �
� �

, then find AB.

(c) Evaluate :

1 12

3 3

1

8 5 .x x dx

	� �
� ��
� �� �

�

(d) Evaluate the area between the curves y1 = 8 – x2 and

y2 = –x + 6 from x = –1 to x = 2.

(e) Solve the following LPP :

Maximize : Z = x + 2y

Subject to : x + y � 4

x � 1

x, y � 0
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(f) Draw the feasible region for the following inequalities :

x + y � 3

x � 2

y � 2

x, y � 0

5. Attempt any two of the following : [16]

(a) A calculator company produces a handheld calculator and a

scientific calculator. Because of limitations on production capacity,

no more than 250 scientific and 200 handheld calculators can

be made daily.

To satisfy a shipping contract, a minimum of 250 calculators

must be shipped each day. If each scientific calculator sold,

results in a 20 rupees loss, but each handheld calculator produces

a 50 rupees profit; then how many of each type should be

manufactured daily to maximize the net profit ?

(b) Use the Gaussian elimination method to solve the following

system of equations :

x + y + z = 6

3x – y + z = 4

x + 2y + 3z = 14.

(c) (i) Evaluate :

2 sin .x x dx�
(ii) Find the producers surplus (PS) for the following supply

curves at the level indicated :

P = Q2 + 4Q + 60; Q0 = 5, P0 = 85.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1036

F.Y. B.A. EXAMINATION, 2019

PHYSICAL EDUCATION

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw the diagrams wherever necessary.

1. Answer the following in 50 words each (any two) : [5]

(A) List down the skills of Volleyball.

(B) Write the nature of training methods.

(C) Write the aim of physical education and list down the objectives

of Physical Education.

2. Answer the following in 100 words each (any two) : [10]

(A) Write the primary structure of first aid and write importance

of first aid.

(B) Write meaning and importance of recreational game.

(C) List down the skills of Judo and explain the rules of Judo.

3. Answer the following in 200-250 words each (any two) : [15]

(A) Write the importance of physical education in health

aspects.

P.T.O.
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(B) List down the committees for organisation of sports competition

and his function.

(C) Write the meaning of physical fitness and write its importance

in human life.

4. Answer in 500 words (any one) : [10]

(A) Draw a neat diagram of Kabaddi ground (M) with all

measurements. Explain different skills of Kabaddi.

(B) Define sports biomechanics and explain its primary nature.

40

 :— (i)

(ii)

(iii)

1. 50 [5]

2. 100 [10]
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3. 200-250 [15]

4. 500 [10]
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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5501]-1037

F.Y. B.A. EXAMINATION, 2019

MATHEMATICS

MG-1 : Algebra and Geometry

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(a) If a � b(mod m) and b � c(mod m), then show that a � c(mod m).

(b) Let X = {a, b, c, d}. Construct an example of a relation

on X such that the relation is symmetric, transitive but not

reflexive.

(c) State remainder theorem for polynomials.

(d) Find eigen values of the matrix :

2 1

A = .

5 4

� �� �
� �
� �
� �

(e) State Cayley Hamilton theorem for matrices.

(f) Shift the origin to the point (–1, 2) and transform the

equation :

x2 – y2 + 2x + 4y = 0.

(g) Find the equation of the plane passing through the point

(2, 1, –3) and parallel to the plane x + 2y + 3z = 8.
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(h) Find the equations of a line joining the points (–2, 1, 3) and

(3, 1, –2).

(i) Find the centre and radius of the sphere :

x2 + y2 + z2 – 2x + 4y + 6z + 5 = 0.

(j) Define right circular cylinder.

2. Attempt any four of the following : [16]

(a) Using principle of mathematical induction, prove that

3/n3 + 2n, where n is a positive integer.

(b) List all the integers x in the range 1 	 x < 80, which satisfy

x � 5(mod 8).

(c) Solve the equation 8x3 – 36x2 + 46x – 15 = 0; given that

the roots are in A.P.

(d) If p is a prime and a, b are integers such that p/ab, then

prove that either p/a or p/b.

(e) Solve the following system of equations by using Gauss elimination

method :

x + y + 2z = 9

2x + 4y – 3z = 1

3x + 6y – 5z = 0.

(f) Verify Cayley Hamilton theorem for the matrix :

0 1 2

A = 1 2 3 .

3 1 1

� �
� �
� �
� �
� �
� �� �
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3. Attempt any two of the following : [16]

(a) Find g.c.d. ‘d’ of 3645 and 2357. Also find x0, y0 such that

d = 3645x0 + 2357y0 where x0, y0 are integers.

(b) Determine the values of k so that the system :

x + y + kz = 1

x + ky + z = 1

kx + y + z = 1,

has :

(i) a unique solution,

(ii) no solution

(iii) infinite number of solutions.

(c) (i) Let A be the set of all the lines in the plane. Define

a relation R on A by lRm if and only if l is parallel

to m then show that R is an equivalence relation.

(ii) Prepare multiplication table for Z6. Also find multiplicative

inverse of element in Z6 if exist.

4. Attempt any four of the following : [16]

(a) Shift the origin to a suitable point so that the equation

x2 – 6x – 4y – 1 = 0 will be in the form x2 = 4by. State

the value of b.

(b) Find the equation of the plane containing the line

2 3 4

2 3 2

x y z
 
 �
� �

�
 and the point (0, 6, 0).

(c) Find the equations of a line through (–2, 3, 4) and parallel

to the planes 2x + 3y + 4z = 5 and 3x + 4y + 5z = 6.
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(d) Show that the lines :

1 8 2

1 7 2

x y z� � �
� �

�
 and 

1 2 4

1 1 1

x y z
 � 

� �

�
are coplanar.

(e) Find the centre and the radius of the circle :

x2 + y2 + z2 – 2y – 4z = 11,

x + 2y + 2z = 15.

(f) Find the equation of the right circular cone with vertex at

(2, –1, 4), the line

2 1 4

1 2 1

x y z� 
 �
� �

�

as the axis and semi-vertical angle 1 4
cos

6

� � 

� �� �

.

5. Attempt any two of the following : [16]

(a) Reduce the equation 3x2 + 2xy + 3y2 – 4x + 2y + 1 = 0

to standard form and name the conic.

(b) Find the equation of the sphere passing through the

points :

A(1, 0, –1), B(2, 1, 0), C(1, 1, –1) and D(1, 1, 1).

(c) (i) Find the equations of the line of shortest distance between

the skew lines :

1 2 4

2 3 4

x y z� � �
� �  and 

2 4 5

3 4 5

x y z� � �
� � .

(ii) Find equation of the right circular cylinder whose axis

is the line :

x y z

l m n

� � � � � �
� � ,

where l, m, n are direction ratios and radius r.
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Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5501]-1038

F.Y. B.A. EXAMINATION, 2019

STATISTICAL PREREQUISITES

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Calculator and statistical tables are allowed.

(iv) Symbols and abbreviation have their usual meaning.

1. Attempt each of the following :

(A) State whether each of the following statement is true or

false : [1 each]

(i) First raw moment is variance.

(ii) For mesokurtic distribution, �2 = 0.

(iii) Mean is always greater than median.

(iv) Index number for base year is always 100.

(B) Choose correct alternative : [1 each]

(i) We can find mode graphically by using .................. .

(a) Histogram

(b) Ogive curve

(c) Box plot

(d) All of the above
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(ii) If first moment about 2 is 5, then mean is ............. .

(a) 2

(b) 5

(c) 7

(d) 3

(iii) For symmetric distribution, �1 is ................. .

(a) = 0

(b) > 0

(c) < 0

(d) None of the above

(iv) The second moment about mean is .................. .

(a) Mean

(b) Variance

(c) Mode

(d) Median

(C) Answer in brief : [2 each]

(i) State any two merits of median.

(ii) Find median of first five positive integer.

(iii) Define ratio scale with one illustration.

(iv) Define coefficient of correlation.
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2. Attempt any four of the following : [4×4=16]

(a) The mean and variance of the distribution are 3 and 2

respectively. Find first central moment and second moment

about origin.

(b) Write a note on population and sample.

(c) Define positive attributes and negative attributes.

(d) If two observations are 10 and 20, then verify the relation :

AM � GM � HM.

(e) Calculate 3rd quartile from the following frequency

distribution :

Class Frequency

0—10 15

10—20 45

20—30 36

30—40 30

40—50 24

(f) Draw frequency curve for the following frequency distribution :

Class Frequency

0—100 5

100—200 12

200—300 15

300—400 10

400—500 8
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3. Attempt any four of the following : [4×4=16]

(a) Write a note on regression.

(b) State condition of consistency for three attributes.

(c) Define the following :

(i) Ultimate class frequency

(ii) Manifold classification.

(d) Calculate mode from the following frequency distribution :

Class Frequency

10—12 8

12—14 12

14—16 15

16—18 22

18—20 10

20—22 8

(e) For a moderately skewed distribution mean, mode and coefficient

of skewness are 86, 68 and 0.42 respectively. Find coefficient

of variation.

(f) Compute Fisher’s price index number from the following data :

Commodity p0 q0 p1 q1

A 10 20 12 30

B 8 40 9 50

C 25 10 30 20
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4. Attempt any two of the following : [2×8=16]

(a) (i) Write a note on simple random sampling. [4]

(ii) Compute variance for the data given below : [4]

Class Frequency

1—3 2

3—5 5

5—7 10

7—9 5

9—11 3

(b) (i) Express first four moments about mean in terms of moments

about origin. [4]

(ii) Compute geometric mean for the data given below : [4]

X F

1 5

2 10

3 15

4 12

5 8
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(c) Compute mean deviation about mean for the data given

below : [8]

Class Frequency

100—200 15

200—300 21

300—400 40

400—500 19

500—600 8

(d) Compute coefficient of correlation between X and Y from the

data given below : [8]

X Y

10 9

19 8

18 12

9 11

14 7

5. Attempt any one of the following : [1×16=16]

(a) (i) Explain the consideration in the construction of consumer

price index numbers. [8]
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(ii) Fit a second degree parabola to the data given below

by taking Y as dependent variable : [8]

X Y

1 110

2 150

3 190

4 210

5 350

6 410

(b) (i) Explain the least square method of fitting the exponential

curve of type Y = a.bX. [4]

(ii) Explain the term skewness. [4]

(iii) Examine the consistency of the following data : [8]

N = 1090, (A) = 440, (B) = 420, (C) = 440,

(AB) = 410, (BC) = 400, (AC) = 360.
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Total No. of Questions—4] [Total No. of Printed Pages—8

Seat

No. [5501]-1039

F.Y. B.A. EXAMINATION, 2019

LOGIC

G-I : Introduction to Logic and Principles of Reasoning

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [20]

(1) Symbolize the following propositions using the symbols given

in bracket :

(i) India is not aggresive. (I)

(ii) Either the patient is alive or dead. (A, D)

(iii) If individual is brilliant then he will have the opportunities.

(I, O)

(iv) Madhuri is not writing and reading as well. (W, R)

(v) You will get full marks if and only if you write correct

answers. (M, A)
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(2) Determine whether the following statement forms are tautologies,

contradictory or contingent with the help of truth table or

truth tree method (any two) :

(i) q . (p . ~p)

(ii) ~p � (q � r)

(iii) q · (q . ~p)

(iv) ~p � (p . q)

(3) Determine whether the following statement forms are tautologous

with the help of shorter truth table (any two) :

(i) q � (p · q)

(ii) (p � q) � (~p � q)

(iii) p � (p � q)

(iv) (p � ~p) · (~p � p)

(4) What is obversion ?

(5) Square of opposition.

(6) Explain the truth table method.

2. Answer any two of the following : [20]

(1) Prove validity of the following arguments (any two) :

(a) p · q

p � f / � f

(b) p � q

q � r

p / � r � s

(c) ~p � q

~q / � ~p � r
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(d) p � q

p � p

~q / � ~p · p

(2) Convert and obvert the following propositions :

(i) All teachers are brilliant.

(ii) Some books are valuable.

(iii) Not a single banana is red.

(iv) All animals are honest.

(v) Some rivers are not long.

(3) Explain inductive and deductive branches of logic.

(4) Explain figures of categorical syllogism.

3. Answer any one of the following : [20]

(1) What is Fallacy ? Explain types of fallacies.

(2) (a) Demonstrate the invalidity of any two of the following

arguments :

(1) p � (q � r)

~r · ~p

/ � ~p � r

(2) p � q

~r � q

/ � p � ~r
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(3) A � B

C � D

A � D

/ � B � C

(4) (S · T) � U

S � ~U

/ � ~U � W

(b) If : U = {1, 2, 3, 4, 5, 6, 7}

A = {1, 2}, B = {1, 3, 5}, C = {2, 3, 5, 7} &

D = {4, 5, 6, 7},

then list the elements of the following sets :

(i) A � B

(ii) C � B

(iii) ~C � D

(iv) ~A � ~B

(v) D � ~A.

4. Write short notes on any four of the following : [20]

(i) Universal set

(ii) Shorter truth table

(iii) Propositional variables and constants

(iv) Disjunctive proposition

(v) Rules of inference (any two)

(vi) Proposition and sentence.
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80

 :— (i)

(ii)

(iii)

1. [20]

(1)

(i) (I)

(ii) (A, D)

(iii) (I, O)

(iv) (W, R)

(v)

(M, A)

(2)

(i) q . (p . ~p)

(ii) ~p � (q � r)

(iii) q . (q . ~p)

(iv) ~p � (p . q)

(3)

(i) q � (p · q)
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(ii) (p � q) � (~p � q)

(iii) p � (p � q)

(iv) (p � ~p) · (~p � p)

(4)

(5)

(6)

2. [20]

(1)

(a) p · q

p � f / � f

(b) p � q

q � r

p / � r � s

(c) ~p � q

~q / � ~p � r

(d) p � q

p � p

~q / � ~p · p

(2)

(i)

(ii)

(iii)

(iv)

(v)
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(3)

(4)

3. [20]

(1)

(2)

(1) p � (q � r)

~r · ~p

/ � ~p � r

(2) p � q

~r � q

/ � p � ~r

(3) A � B

C � D

A � D

/ � B � C

(4) (S · T) � U

S � ~U

/ � ~U � W
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U = {1, 2, 3, 4, 5, 6, 7}

A = {1, 2}, B = {1, 3, 5}, C = {2, 3, 5, 7} &

D = {4, 5, 6, 7},

(i) A � B

(ii) C � B

(iii) ~C � D

(iv) ~A � ~B

(v) D � ~A.

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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Seat

No. [5501]-1040

F.Y. B.A. EXAMINATION, 2019

SOCIOLOGY

G-1 : Introduction to Sociology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Primary and secondary group.

(2) Sociology and role of media.

(3) Conformation and Deviance.

(4) Meaning and definition of sociology.

(5) Meaning of social movement.

(6) Elements of social structure.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Discuss the nature of sociology as science.

(2) Define socialization. Discuss the objectives of socialization.

(3) Explain the types of social mobility.

(4) Define social control. Explain the types of social control.

3. Answer the following questions in 400 words (any one) : [20]

(1) Define Culture. Discuss the characteristics of culture.

(2) What is social change ? Discuss the factors of social change.
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4. Write short notes on (any four) : [20]

(1) Characteristics of society.

(2) Reference group.

(3) Personality development.

(4) Types of social control.

(5) Gender.

(6) Sociology and social work.

80

 :— (i)

(ii)

(iii)

[20]

1

2

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1041

F.Y. B.A. EXAMINATION, 2019

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper I

[Outline of Pre-history, Proto-history and Early History

(600 B.C. to 1200 A.D.)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Which are the salient features of pre-history ?

(ii) What is an Archaeological excavations ?

(iii) Define the term ‘Mesolithic’.

(iv) What is ‘Second Urbanization’ ?

(v) State the south campaign of Samudragupta.

(vi) What do you know about Pallava Architecture ?

2. Answer the following questions in 200 words each (any two) : [20]

(i) Write an essay on Neolithic in India.

(ii) Take a review of the Vedic Literature.

(iii) Describe the effects of Persian contact with India.

(iv) Discuss the contribution of the Satavahanas to the History

of Deccan.
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3. Answer the following questions in 400 words (any one) : [20]

(i) Discuss the different types of Megalithic Burials.

(ii) Explain the term Deccan and take a review of the history

of the Chalukyas and Rashtrakutas.

4. Write short notes on (any four) : [20]

(i) Proto-history

(ii) Literary Sources

(iii) Decline of Harappan Civilization

(iv) Mahajanapadas

(v) Dhamma of Ashoka

(vi) Vakatakas.

80

 :— (i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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[20]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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F.Y. B.A. EXAMINATION, 2019

STATISTICS

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical table is allowed.

(v) Graph paper will be provided on request.

1. Attempt each of the following :

(A) State whether the following statements are true or false :

[1 each]

(i) First raw moment is zero.

(ii) Mean can be obtained in case open end classes.

(iii) Correlation is independent of change of origin.

(iv) Coefficient of determination is always lies between –1

and +1.

(B) Choose the correct alternative : [1 each]

(i) First central moment is always equal to :

(a) Arithmetic Mean

(b) 0

(c) 1

(d) Variance
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(ii) Which of the following is not a central value ?

(a) Variance

(b) Mean

(c) Mode

(d) Median

(iii) Yule’s coefficient of association (Q) is lies between :

(a) (0, 1)

(b) (–1, 1)

(c) (–�, �)

(d) None of the above

(iv) Base year of the index number is :

(a) any convenient year

(b) preceding year

(c) year of stability

(d) succeeding year

(C) Answer in brief : [2×4=8]

(i) If regression equation is given where X is independent

variable as :

3Y – 2X = 4,

then find its regression coefficient.

(ii) Define positive and negative correlation with one example

each.

(iii) Calculate A.M. for a group of 10 observations if

( 4) 16xi � �� .

(iv) Is the information is consistent ?

(A) = 30, (B) = 40, (AB) = 35, N = 100
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2. Attempt any four of the following : [4×4=16]

(a) Describe the function of Indian Statistical Institute (I.S.I.) in

India.

(b) Write a short note on stratified random sampling method.

(c) Define independence of two attributes. If the attributes A

and B are independent, then show that � and � are also

independent.

(d) Write a short note on scatter diagram.

(e) If the rank correlation coefficient between X and Y is 
2

3
 and

the sum of squares of differences between the ranks is 55,

assuming that no rank is repeated, find the number of pairs

of observations.

(f) Compute appropriate price index number for the following

data :

Commodity      Year 2010 Year 2012

Price Quantity Price

A 5 4 13

B 9 5 17

C 13 2 19

3. Attempt any four of the following : [4×4=16]

(a) Splice together the following series of index numbers by

continuing :

(i) the series A forward and
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(ii) the series B backward.

Year Series A Series B

2001 107 —

2002 115 —

2003 140 —

2004 150 100

2005 — 120

2006 — 150

2007 — 200

(b) Given the following data :

City X City Y

Size 10 15

Mean 150 200

Variance 25 36

If r = 0.6, then estimate most likely value of X when

Y = 110. Also state which city had more stable prices of

commodities ? Justify your result.

(c) Define :

(I) Attribute and

(II) Dichotomy one example each.

(d) The first two moments of a distribution about value 4 are

3 and 34. Find the mean and variance.

(e) Write a short note on skewness and various measures of

skewness.

(f) Explain the procedure of fitting of the curve 2Y X Xa b c� � �

by the method of least square.
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4. Attempt any two of the following : [2×8=16]

(a) Given n pairs of observations (xi, yi) i = 1, 2, ............. n,

explain the procedure of fitting of simple linear model of the

type Y Xa b� � � � , with E( ) 0,� � 2V( )� � �  estimate the

parameters ‘a’ and ‘b’ by method of least square.

(b) With usual notations, prove that 
2 1 1� 	 � � .

(c) What is index number ? What are the problems in the construction

of index numbers ?

(d) What is rank correlation ? Derive Spearman’s rank correlation

coefficient in case of without ties for ‘n’ pairs of observations.

5. Attempt any one of the following : [1×16=16]

(a) (i) Given the following data : [5]

Commodity     Base Year     Current Year

Price Quantity Price Quantity

A x 8 3 4

B 2 6 6 2

Find the value of x if ratio of Laspeyre’s price index

number to that of Paasche’s is 15 : 14.

(ii) With usual notations prove that 1 1r� 
 
 . [5]

(iii) Write a short note on the index numbers SENSEX and

BSE. [6]
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(b) (i) Compute Spearman’s rank correlation coefficient between

height (in inches) and weight (in kgs) of 8 persons. [5]

Height Weight

72 65

60 54

65 55

66 61

70 60

65 54

58 50

65 63

(ii) For the following information :

n = 25, �x = 125, �y = 100, �x2 = 1650, �y2 = 1460,

�xy = 1508. Later on it was discovered that the two

pairs of observations are taken as (6, 14) and (8, 6)

instead of (8, 16) and (10, 12) respectively. Obtain correct

correlation coefficient between (x, y). [6]

(iii) With usual notations show that, S.D. M.D.	  about mean. [5]
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F.Y. B.A. EXAMINATION, 2019

APPLIED MATHEMATICS

(AMG-I : Calculus and Differential Equations)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(a) Let u, b � R with b � 0. If u.b = b, then prove that

u = 1.

(b) State density theorem.

(c) Define the left hand limit of f(x) at x = c.

(d) Give an example of a function f : R � R which is decreasing.

(e) Define a bounded set in R.

(f) Solve :

.
1

dy xy

dx x
�

�

(g) Solve :

y = px + 1 + p2,

where p = 
dy

dx
.
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(h) Define exact differential equation.

(i) Find :

1
.

1
dx

x x ��

(j) Define linear differential equation.

2. Attempt any four of the following : [16]

(a) Discuss the continuity of f(x), where

| |
, if  0;

2, if  0.

x x
x

xf x

x

�� �	� 

	 ��

(b) State and prove Bernoulli’s inequality.

(c) Determine all x � R that satisfy |x – 2| < |x|.

(d) State and prove Archimedian property.

(e) Let f : [a, b] � R be continuous function on [a, b]. If

k � R such that f(a) < k < f(b), then show that there exists

point c � (a, b) such that f(c) = k.

(f) Find � and 
 if the function f(x) is continuous on (–3, 5),

where

, if  ( 3, 1)

3 2, if  [1, 3)

, if  [3, 5).

x x

f x x x

x x

� � � ��
	
	� � �

	
	 � 
 ��
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3. Attempt any two of the following : [16]

(a) State and prove the Leibnitz’s theorem.

(b) State and prove the Lagrange’s mean value theorem.

(c) Find the values of a and b if 
30

1 cos sin
lim 1

x

x a x b x

x�

� �
� .

4. Attempt any four of the following : [16]

(a) Evaluate :

.n ax b dx��
(b) Evaluate :

2
.

2 2

x
dx

x x� �
�

(c) Find :

2
8

0

sin .x dx

�

�

(d) Find the orthogonal trajectories of the family of curves

y = ax2, where a is a parameter.

(e) Explain the method of solvable for p to solve the differential

equation f(x, y, p) = 0, where p = 
dy

dx
.

(f) Solve :

2

5 6 0.
dy dy

dx dx

� � � �� � �� � � �� � � �
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5. Attempt any two of the following : [16]

(a) Convert the differential equation :

2 9 20

6 2 10

dy x y

dx x y

� �
�

� �

into homogeneous differential equation and hence solve it.

(b) Solve :

dy

dx
 + P(x)y = Q(x)yn dx,

where n � N and n � 1.

(c) Find an integrating factor of the differential equation

(x3 + xy4)dx + 2y3dy = 0 and hence solve it.
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F.Y. B.A. EXAMINATION, 2019

APPLIED STATISTICS

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical tables and scientific calculator is allowed.

(iv) Symbols have their usual meaning.

(v) Graph papers will be provided on request.

1. Attempt each of the following :

(A) State whether the following statements are true or false :

[1 each]

(i) Mode is the maximum observation in the data.

(ii) Variance is not affected by change of origin.

(iii) If corr(X, Y) = 0.4, �1 = 5, �2 = 5, then cov(U, V) = 10.

(iv) If attributes A and B are independent then coefficient

of association Q = 0.

(B) Choose the correct alternative : [1 each]

(i) Mean deviation about mean is a :

(a) measure of skewness

(b) measure of central tendency

(c) measure of dispersion

(d) measure of kurtosis
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(ii) Central moments are the moments about :

(a) origin

(b) mean

(c) any value

(d) 10

(iii) If price of a commodity in current year and base year

are 150 and 100 respectively, then the price relative of

commodity is :

(a) 150

(b) 140

(c) 225

(d) 100

(iv) Which method of sampling is appropriate if the population

is homogeneous ?

(a) simple random sampling

(b) stratified sampling

(c) systematic sampling

(d) cluster sampling

(C) Answer in brief : [2×4=8]

(i) Define Bowley’s measure of skewness.

(ii) Find coefficient of mean deviation about median(Me) for

15 observations in the data if �|xi – Me| = 120.

(iii) What is the effect of change of origin and scale on coefficient

of correlation.

(iv) Explain the term : Purchasing Power.
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2. Attempt any four of the following : [4×4=16]

(a) What is stratified random sampling ? Give one real life situation

where it is appropriate.

(b) The following data give ‘number of defects in a television set

manufactured’ recorded for 20 sets :

5, 5, 8, 8, 4, 5, 8, 5, 1, 3, 2, 5, 9, 7, 2, 8, 2, 7, 5, 6

Present the above information using Stem and Leaf chart.

(c) The mean and standard deviation of monthly salary of 15 male

workers are Rs. 20,300 and 1,000 respectively. Whereas the

mean and standard deviation of monthly salary of 10 female

workers are Rs. 15,300 and 1,200 respectively. Find coefficient

of variation for salaries of both male and female workers and

comment on the result obtained.

Also compute combined mean salary for all male and female

workers.

(d) Given :

N = 100, (A) = 21, (B) = 20, (C) = 41, (AB) = 5, (AC) =

18, (BC) = 5, (ABC) = 4.

Find (AB�), (A�) and (A�C)

(e) State the relations between raw and central moments.

(f) Draw a histogram for the following data and obtain mode from

it :

Runs scored No. of Matches

0—10 10

10—20 35

20—30 52

30—40 48

40—50 15

50—60 5
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3. Attempt any four of the following : [4×4=16]

(a) (i) Define median.

(ii) Discuss any two merits and demerits of arithmetic median.

(b) Define : range, quartile deviation, mean deviation about mean

for ungrouped data.

(c) Given : N = 1000, (AB) = 300, (A�) = 520, (�B) = 160.

Check whether attributes A and B are independent.

(d) What is kurtosis ? Discuss its types.

(e) Describe the procedure of drawing a systematic sample from

the population.

(f) Compute second and third raw moment for the following

data :

Marks (Out of 20) No. of Students

0—4 2

4—8 25

8—12 47

12—16 16

16—20 10

4. Attempt any two of the following : [2×8=16]

(a) The following table gives the scores(X) of an aptitude test

of eight candidates and their respective intelligence quotients(Y) :

X Y

78 72

40 56

65 71

85 70
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72 75

80 85

76 68

58 60

Compute the rank correlation coefficient between X and Y.

Also interpret your result. [8]

(b) Define : [8]

(i) Attribute

(ii) Positive frequency

(iii) Fundamental set of frequencies

(iv) Independence of attributes.

(c) Examine the consistency of the following data : [8]

N = 800, (A) = 200, (B) = 290, (C) = 150, (AB) = 125, (AC) = 70,

(BC) = 55, (ABC) = 30.

(d) The export of units (in thousands) of a certain product recorded

for seven years are given below : [8]

Year (X) Export (Y)

1 2

2 18

3 25

4 33

5 28

6 34

7 40

Fit the curve Y = a + b X + c X2 to the above data. Using

the fitted curve, obtain the estimate of Y for the year 10.
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5. Attempt any one of the following : [1×16=16]

(a) (i) The price of commodities for year 2000 and 2010 along

with the weights are as given in the table below :

Year 2000 2010 Weight

Commodity Price(po) Price(pi)

A 25 32 30

B 28 25 22

C 20 30 18

D 22 30 15

Calculate price index number for year 2010 taking 2000

as a base year using :

(1) Simple average of price relatives,

(2) Weighted arithmetic mean of price relatives

(3) Weighted geometric mean of price relatives [8]

(ii) Explain why index numbers are called economic

barometers ? [4]

(iii) Discuss various problems in the construction of index

numbers. [4]

(b) (i) Compute the correlation coefficient between X and Y from

the following data : n = 100, �xi = 120, �xi
2 = 600,

�yi = 210, �yi
2 = 590, �xiyi = 430

Also find correlation coefficient between 4X and Y + 5. [8]

(ii) Explain the concept of regression and discuss its utility

by giving suitable illustrations. [4]
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(iii) The following data give the observations on the Annual

Income (X) and Savings (Y) of 6 families :

X Y

(in Lac Rs.) (in Lac Rs.)

5 5

4.5 6.2

7 6.2

10 8

7 7.5

6 8

The least squares linear regression equation of Y on X is

Y = 2 + 0.45 X. Estimate Y for observed X and obtain residuals

in Y. [4]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1045

F.Y. B.A. EXAMINATION, 2019

PHILOSOPHY

G-1 : Introduction to Philosophy

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the concept of ‘Darsana’. 

(ii) State the concept of ‘Sadharandharma’ and explain

any five.

(iii) State the concept of Induction.

(iv) What is Theism ? Explain.

(v) Explain : ‘Reason’ as source of knowledge.

(vi) State the classification of Art.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Discuss critically the Ontological argument for the existence

of God.

(ii) Elaborate the Carvaka’s Materialism.

(iii) Describe briefly the concept of Right.

(iv) What is the method of Vada ? Bring out its significance.

P.T.O.
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3. Answer any one of the following questions in 500 words : [20]

(i) Elaborately discuss the nature of ‘Pratyaksa’ as source

of knowledge.

(ii) Discuss in detail the nature of Hedonism according to Western

Ethics.

4. Write short notes on (any four) : [20]

(i) Etymology of the term 

(ii) The concept of Good

(iii) Any two attributes of God

(iv) ‘Runa’. 

(v) ‘Sabda’. 

(vi) Unmoved Mover.

80

 :— (i)

(ii)

(iii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



[5501]-1045 3 P.T.O.

2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1046

F.Y. B.A. EXAMINATION, 2019

MATHEMATICAL PRE-REQUISITES

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use graph paper wherever necessary.

1. Attempt any ten of the following : [20]

(i) Define : Constant function.

(ii) Determine the following statement is true or false :

“The graph of linear function will always a straight line.”

(iii) Write product rule of derivative of function.

(iv) Given y = 9x2 + 2x – 3, find 
dy

dx
 at x = 1.

(v) Given y = u2 + 1 and u = x2 + 1, find 
dy

dx
.

(vi) Find critical values of y = 4x2 – 2x + 13.

(vii) Given Z = 7x2 + 7y2, find Zx, Zy.

(viii) What is function ?

(ix) Given production function Q = 6x2 + 4xy + y2. Find the marginal

physical productivity of Q.
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(x) Given Z = x2y2, find Zxx.

(xi) Given y = 130 + 2x2, find the value of x in terms of y.

(xii) Define Total derivative.

(xiii) Given 1
2 3

x y
� � , find slope.

2. Attempt any two of the following : [10]

(i) Find the price elasticity of supply for the function

Q + 2 = 0.8P at P = 3.

(ii) Given y = 7x3 + 5x2 + 12, find 

2

2

d y

dx
 at x = 2.

(iii) Given Z = 
4

1

x

xy �
, find Zx at (1, 1).

(iv) Find the equilibrium price and quantity for the markets :

Qs = 13P – 27

Qd = 24 – 4P.

3. Attempt any two of the following : [20]

(i) For the function y = –x3 + 4x – 
2

3

x
, find the slope at

x = 2 and x = 5.

(ii) Find the marginal revenue function for the given demand

function Q = 44 – 4P at Q = 4, Q = 10.

(iii) Use quotient rule to find Zx and Zy for the function

Z = 
5

6 7

x

x y�
.
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(iv) Solve the set of simultaneous equations 2x – 4y = –24 and

9x – 3y = –3 by graphically.

4. Attempt any two of the following : [30]

(i) Given Q = 700 – 2P + 0.02y, where P = 25, y = 5000,

find :

(a) the price elasticity of demand

(b) the income elasticity of demand.

(ii) Minimize the total cost function :

C = 8x2 + 6y2 – 2xy – 40x – 42y + 180

subject to the production quota x + y � 12.

(iii) Explain implicit and explicit functions by giving proper

examples.

(iv) Given y = 3

5

3 1

x

x x� �
, find 

2

2

d y

dx
 at x = 1.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-1047

F.Y. B.A. EXAMINATION, 2019

FOUNDATION COURSE (RESTRUCTURING)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Write the answer of the following questions in 100 words each

(any four) : [20]

(1) State the information about linguistic varieties of Indian culture.

(2) State the information about Indian economy.

(3) State the work of ‘Prarthana Samaj’.

(4) Give the information about Analogy.

(5) Give the information about Indian Space Research.

(6) Explain the professional values.

2. Write the answer of the following questions in 200 words each

(any two) : [20]

(1) Explain the supporting elements of National integration.

(2) State the information about Dalit Movement.

(3) Explain the merits and demerits of Privatization.

(4) State the causes rising transformation movements in India.

3. Write the answer of any one of the following in 400 words :[20]

(1) Take a brief survey of co-operative movement in India.

(2) State the characteristics of Indian society.
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4. Write the following shorts notes in 100 words each (any four) : [20]

(1) Importance of Religion

(2) Planning Commission

(3) Government

(4) Regionalism

(5) Importance of Research

(6) National Values.

80

 :— (i)

(ii)

(iii)

[20]

1

2

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [5501]-1050

F.Y. B.A. EXAMINATION, 2019

(Vocational Course)

COMPUTER APPLICATIONS—I

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Draw a neat-labelled diagram wherever necessary.

(ii) Figures to the right indicate full marks.

1. Answer the following (any five) : [10]

(1) Octal

(2) ASCII

(3) ROM

(4) UNIX

(5) MICR

(6) Icons

(7) Paint brush.

2. Answer the following (any two) : [10]

(1) What is MS-Word ? What are the features of MS-Word ?

(2) What is output device ? Explain any two output devices.

(3) What is email ? What are the advantages of email ?
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3. Solve the following : [15]

(a) Convert from Decimal to Binary

(55)10 = ( )2

(b) Convert from Binary to Hexadecimal

(110111)2 = ( )16

(c) Convert from Binary to Octal

(111000111)10 = ( )8

(d) Binary Addition :

10111 + 10101 = ?

(e) Binary Subtraction :

10101 – 101 = ?

4. Answer the following : [5]

What is operating system ? Explain types of operating system.

Or

What is Internet ? Explain uses of internet.
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Total No. of Questions—6] [Total No. of Printed Pages—5

Seat

No. [5501]-1051

F.Y. B.A. (Vocational Stream) EXAMINATION, 2019

FUNCTIONAL ENGLISH

Paper I

(An Introduction to English Language and Writing Skills in English)

(Theory)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (a) Write short notes on any two of the following : [6]

(i) Language as a dynamic system

(ii) Phonology as a level of linguistics

(iii) Pure vowels in English.

(b) Fill in the blanks (any five) : [5]

(i) /p, b/ are .......................... plosives in British RP.

(ii) The final sound in the word ‘kick’ is .......................... .

(iii) Position of the lips in the articulation of vowel sound

/u/ is .......................... .

(iv) Total number of nasals in English is .......................... .

(v) /a:/ is a .......................... vowel.

(vi) The vowel sound in the word ‘cut’ is ........................ .

(vii) The consonant cluster in the word ‘school’ is ............... .
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(c) State whether the following statements are true or false

(any five) : [5]

(i) /I, i:/ are voiceless.

(ii) Phonetics deals with study of how sounds are produced.

(iii) There are eight pure vowels in the British RP.

(iv) Diphthongs are treated as a vowel in syllable.

(v) There are five glottal sounds in British RP.

(vi) Upper lip is an active articulator.

(vii) /U, u:/ are central vowels.

2. (a) Use the correct tense forms of the verbs given in the

brackets : [3]

My father is an engineer. He (build) houses. In last ten years

he has (construct) over ten buildings. Next year, he is (open)

a new project.

(b) Fill in the blanks with appropriate prepositions given in the

brackets : [2]

[about; between; from; to]

Sudha sits ..................... Saroj and Usman. Saroj is .....................

Pune and is very brilliant. One afternoon, she went .....................

the library and brought some books. One of the books was

..................... yoga. All of them read it and got impressed by

reading the results.
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(c) Change the voice (any two) : [2]

(i) The teacher must complete the syllabus.

(ii) We will fill the forms in time.

(iii) I can drive a truck.

(d) Use articles (a/an/the) wherever necessary : [2]

In ..................... United Kingdom, apple groves are common

sight. One can see ..................... apple tree outside every house.

They are ..................... beautiful sight when lot of apples grow

on a tree and get ripe. ..................... apples are collected and

sent to processing factories or for juice extraction.

(e) Choose the correct alternative and rewrite the sentences (any

five) : [5]

(i) They (work/works) sincerely every day.

(ii) One of our duties (are/is) to follow discipline.

(iii) I have been cleaning all the day, (haven’t I ?/have I ?)

(iv) The (leg of table/table’s leg) is broken.

(v) I am going (home/to home).

(vi) The child prefers bournvita (than/to) milk.

(vii) My (cousin/cousin sister) Radhika is very intelligent.

(viii) I don’t understand what (you are/are you) saying.

3. (a) Write notes on any two of the following : [10]

(i) The rising tone

(ii) Weak forms

(iii) Stress change according to function.
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(b) Divide the following sentences into tone groups and mark accent

and intonation (any five) : [10]

(i) Hello mam, how is your mother ?

(ii) When teacher is in class, you should maintain silence.

(iii) Have they reached the station ?

(iv) Solve this.

(v) How nice! Give it to me.

(vi) Offices are closed today.

(vii) How could Ramesh complete this ?

4. Develop the following points into a good paragraph of about fifteen

sentences : [10]

Youth and Social Media :

• Introduction

• Media

• Various social media

• Positive effects of social media

• Negative effects of social media

• Need to make good use

• Conclusion.

Or

Write a short paragraph on the topic ‘Importance of Yoga in

Modern Age’. [10]

5. Prepare a flow chart for your plans for higher studies abroad. [10]
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6. Read the following entries from the Oxford Advanced Learner’s Dictionary
and answer the questions given below (any five) : [10]

Questions :

(i) Write two meanings of ‘pet’.

(ii) Transcribe the word ‘pester’ phonemically according to British

English.
(iii) Transcribe the word ‘petard’ phonemically according to American

English.

(iv) Use the term ‘pesticide’ in your own sentence.

(v) How many syllables are there in the words ‘petal’ and ‘pestilence’ ?

(vi) Which syllables are stressed in the words ‘pestilential’ and ‘pestle’ ?
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Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [5501]-1052

F.Y. B.A. EXAMINATION, 2019

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper I : Fundamentals of Tourism

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (around 50 words) : [10]

(i) Natural tourism

(ii) Define tourists

(iii) Annual holiday

(iv) Mass tourism.

2. Write short notes on any four (around 100 words) : [20]

(i) Balance of payment

(ii) Pleasure travel

(iii) Handicrafts

(iv) Social importance of tourism

(v) Tourism business

(vi) National integration.
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3. Answer any three (200-250 words) : [30]

(i) Concepts of sports and adventure tourism.

(ii) Growth of tourism through ages.

(iii) What is the tourists importance for a country ?

(iv) Explain the terms :

(a) Visitor

(b) Tourists.

(v) Bring out the importance of socio-economic tourism for a country.

4. Answer in detail any one (around 500 words) : [20]

(i) Write in detail about your study tour.

(ii) What are the fundamentals of tourism ?
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F.Y. B.A. EXAMINATION, 2019

(Functional Hindi : Vocational)

1924 : 

(2008 PATTERN)

80

 :— (i)

(ii)

(iii)

[5]

(1) Director

(2) Maximum

(3) Mutual

(4) Lump sum

(5) Provisional

(6) Agenda

(7) Manager.
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[5]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

[10]

[12]

[15]
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[7]

[8]

[18]
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F.Y. B.A. EXAMINATION, 2019

(Vocational Course)

COMPUTER APPLICATIONS—II

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

1. Answer the following questions (any four) : [20]

(a) Explain briefly for loop with syntax and example.

(b) Explain Arithmetic operator and Relational operator.

(c) Explain keywords and variable in brief.

(d) Explain in brief float and char data type used in C.

(e) Explain structured programming language.

(f) Explain briefly putchar( ) and scanf( ) statement.

2. Write a program to solve following (any two) : [10]

(a) Write a program to find addition of two numbers.

(b) Write a program to check whether the number is positive

or negative.

(c) Write a program to display 1 to 10 numbers.

3. Write notes on the following (any two) : [10]

(a) Array

(b) Flowchart

(c) While loop.

[5501]-1055
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